VCE & PDF https://lwww.passapply.com/c_cpi_14.html
2024 Latest passapply C_CPI_14 PDF and VCE dumps Download

PassApply.com

C_CP| 14%%s

SAP Certified Application Associate - SAP Cloud Platform Integration

Pass SAP C_CPIl_14 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/c_cpi_14.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SAP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

C_CPI_14 PDF Dumps | C_CPI_14 VCE Dumps | C_CPI_14 Braindumps 1/3


https://www.passapply.com/c_cpi_14.html
https://www.passapply.com/c_cpi_14.html
https://www.passapply.com/c_cpi_14.html

VCE & PDF https://lwww.passapply.com/c_cpi_14.html
2024 Latest passapply C_CPI_14 PDF and VCE dumps Download

PassApply.com

QUESTION 1

Your client has a requirement that all new reporting apps are to be deployed on SAP Cloud Platform, but those apps will
access data from existing on premise systems via secure tunnels. They do not wish to use an SAP Gateway server to
implement this access. What SAP Cloud Platform service eliminates the need for an SAP Gateway server for on
premise data access?

A. SAP API Business Hub

B. SAP Cloud Platform OData Provisioning

C. SAP Cloud Platform Connectivity

D. SAP Cloud Platform APl Management

Correct Answer: B

QUESTION 2

In SAP Cloud Integration, what do you use to modify a message body? Note: There are 2 correct answers to this
guestion.

A. Mapping

B. Content Modifier
C. Groovy Script
D. Python

Correct Answer: BC

QUESTION 3

What is used to perform extension for SAP Ariba?
A. Rest API

B. OData API

C. cXML

D. SAP Web IDE Full-Stack

Correct Answer: C

QUESTION 4

What are some characteristics of a distributed system? Note : There are 2 correct answers to this question.
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A. Individual computer are connected through a network

B. Individual computers are connected through Kubernetes

C. Connected computer appear connected through SAP Cloud Platform, Cloud Foundry environment
D. Connected computers appear as a single computer

Correct Answer: AC

QUESTION 5

You are designing an IFlow and one of the requirements is to merge separate messages from different paths in the
IFlow into one message. What step type should you use? Note : There are 2 correct answers to this question.

A. Aggregator
B. Router

C. Multicast
D. Gather

Correct Answer: AD
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